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PART — A (5 x2 =10 MARKY) CO | Blooms
ANSWER ALL QUESTIONS
Analyze the main advantage of CRD over RBD. Co2 | (Und)
Is Latin square is applicable for 2x2 ? Explain. COz| (Rem)
Show that the NR formula for finding square root of N is
) ) szl N CO3| (Und)
n+l = 2X, +Where N is areal number.
Solve the system of equations X—2Y=0,2X+Yy=5 by CO3| (Und)
Gauss elimination method.
Why Gauss-Seidal method is a better method than Jacobi’s CO3| (Rem)
iterative method.
PART -B (13+13+14 = 40 MARKS)
ANSWER ALL QUESTIONS
a) The following table gives the number of refrigerators sold by four | CO2 | (Ana)
sales man in three months : (13)
Sales man
Months A B C D
May 50 40 48 39
June 46 48 50 45
July 39 44 40 39




1) Do the salesman significantly differ in performance?

i) Is there significant difference between the months?

-2 2

(OR)

b) | A farmer wishes to test the effect of four different fertilizers A, B, C, | CO2 | (Ana)
D are the yield of wheat. In order to eliminate sources of error due to (13)
variability in soil fertility, he uses the fertilizers in a Latin Square
arrangement as indicated in the following table, where the members
indicate yields in bushels per unit area.

Al8 C21 D25 Bll
D22 B12 A25 C19
B15 A20 C23 D24
C22 D21 B10 Al7
Perform an analysis of variance to determine if there is a significant
difference between the fertilizers at 5% level of significance.
a) i) | Identify the real positive root of 3X—C0SX—1=0 using Newton’s | CO3| (App)
' Raphson method correct to four decimal places. (6)
i) | Solve the following system of equations ,using Gauss Jordan method | CO3 | (App)
2X+3y-z2=5 (7)
dx+4y-3z =3
2X -3y +22=2
(OR)
D) 1) | Determine an approximate root of X10g,,X — 1.2 =0 by Newton CO3 | (App)
Raphson method. ©
4 1 2
y ~1 CO3| (App)
i) | Using Gauss Jordan method, find the inverse of (7)




Analyze the variance in the Latin square of yields (in quintals) of

wheat where P,Q,R,S represent the different manures used. oz ('82?)
S222 P221 R223 Q222
Q224 R223 P222 S225
P220 Q219 S220 R221
R222 S223 Q221 P222

Test whether the different manures used have given significantly

different yields.

(OR)
b) Compare the solution of Gauss Jacobi method and Gauss- Seidel CO3 (,825)

method correct to 4 decimal places:
Xx+y+8z=20

Ax+2y+z =14

X+5y-z=10

Rem/Und: Remember/ Understand ~ App: Apply  Ana: Analyze Eva: Evaluate

Cre: Create
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